Transfers Report

This report contains the transfers results.

Contest Name	Ward 20 - Larkhall
Valid Votes	6,193
Positions to be Filled	4
Quota	1,239

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Jackie BURNS	Independent	639
Andy CARMICHAEL	Scottish Labour Party	1,580
Ross CLARK	Scottish National Party (SNP)	1,389
David LAIRD	Scottish Libertarian Party	36
Donald Murdo MACKAY	UKIP	21
Lesley MCDONALD	Scottish Labour Party	463
Richard NELSON	Scottish Conservative and Unionist	1,518
Jake STEVENSON	Scottish Liberal Democrats	148
George SUTHERLAND	Scottish National Party (SNP)	399
	Total	6,193

Candidate Andy CARMICHAEL Elected with 1,580 votes, being in excess of the quota of 1,239 Candidate Ross CLARK Elected with 1,389 votes, being in excess of the quota of 1,239 Candidate Richard NELSON Elected with 1,518 votes, being in excess of the quota of 1,239

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of Andy CARMICHAEL

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jackie BURNS	189	0.21582	40.78998
Transfer to David LAIRD	26	0.21582	5.61132
Transfer to Donald Murdo MACKAY	20	0.21582	4.31640
Transfer to Lesley MCDONALD	999	0.21582	215.60418
Transfer to Jake STEVENSON	42	0.21582	9.06444
Transfer to George SUTHERLAND	45	0.21582	9.71190
No further preference	259	0.21582	55.89738
Not transferred due to rounding			0.00440
	Total		341.00000

Transfers Report

This report contains the transfers results.

Stage 3 - Surplus of Richard NELSON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jackie BURNS	246	0.18379	45.21234
Transfer to David LAIRD	18	0.18379	3.30822
Transfer to Donald Murdo MACKAY	168	0.18379	30.87672
Transfer to Lesley MCDONALD	365	0.18379	67.08335
Transfer to Jake STEVENSON	231	0.18379	42.45549
Transfer to George SUTHERLAND	12	0.18379	2.20548
No further preference	478	0.18379	87.85162
Not transferred due to rounding			0.00678
	Total		279.00000

Transfers Report

This report contains the transfers results.

150.00000

Stage 4 - Surplus of Ross CLARK

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jackie BURNS	69	0.10799	7.45131
Transfer to Lesley MCDONALD	66	0.10799	7.12734
Transfer to Jake STEVENSON	25	0.10799	2.69975
Transfer to George SUTHERLAND	1,125	0.10799	121.48875
No further preference	93	0.10799	10.04307
Not transferred due to rounding			0.00189
	Total		150.00000

Transfers Report

This report contains the transfers results.

Stage 5 - Exclusion of David LAIRD

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jackie BURNS	10	1.00000	10.00000
Transfer to Donald Murdo MACKAY	5	1.00000	5.00000
Transfer to Lesley MCDONALD	4	1.00000	4.00000
Transfer to Jake STEVENSON	7	1.00000	7.00000
Transfer to Jackie BURNS	2	0.21582	0.43164
Transfer to Donald Murdo MACKAY	5	0.21582	1.07910
Transfer to Lesley MCDONALD	9	0.21582	1.94238
Transfer to Jake STEVENSON	5	0.21582	1.07910
Transfer to Donald Murdo MACKAY	6	0.18379	1.10274
Transfer to Lesley MCDONALD	2	0.18379	0.36758
Transfer to Jake STEVENSON	4	0.18379	0.73516
Transfer to Jackie BURNS	1	0.10799	0.10799
Transfer to Lesley MCDONALD	1	0.10799	0.10799
Transfer to Jake STEVENSON	2	0.10799	0.21598
No further preference	10	1.00000	10.00000
No further preference	5	0.21582	1.07910
No further preference	6	0.18379	1.10274
No further preference	2	0.10799	0.21598
Not transferred due to rounding			0.00000
	Total		45.56748

Transfers Report

This report contains the transfers results.

Stage 6 - Exclusion of Donald Murdo MACKAY

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jackie BURNS	4	1.00000	4.00000
Transfer to Lesley MCDONALD	3	1.00000	3.00000
Transfer to Jake STEVENSON	6	1.00000	6.00000
Transfer to Jackie BURNS	5	0.21582	1.07910
Transfer to Lesley MCDONALD	11	0.21582	2.37402
Transfer to Jake STEVENSON	2	0.21582	0.43164
Transfer to Jackie BURNS	31	0.18379	5.69749
Transfer to Lesley MCDONALD	27	0.18379	4.96233
Transfer to Jake STEVENSON	31	0.18379	5.69749
Transfer to Jackie BURNS	2	0.10799	0.21598
Transfer to Lesley MCDONALD	1	0.10799	0.10799
No further preference	13	1.00000	13.00000
No further preference	6	0.21582	1.29492
No further preference	84	0.18379	15.43836
Not transferred due to rounding			0.00000
	Total		63.91491

Transfers Report

This report contains the transfers results.

Stage 7 - Exclusion of Jake STEVENSON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jackie BURNS	33	1.00000	33.00000
Transfer to Lesley MCDONALD	44	1.00000	44.00000
Transfer to George SUTHERLAND	14	1.00000	14.00000
Transfer to Jackie BURNS	6	0.21582	1.29492
Transfer to Lesley MCDONALD	17	0.21582	3.66894
Transfer to George SUTHERLAND	1	0.21582	0.21582
Transfer to Jackie BURNS	41	0.18379	7.53539
Transfer to Lesley MCDONALD	79	0.18379	14.51941
Transfer to George SUTHERLAND	7	0.18379	1.28653
Transfer to Jackie BURNS	3	0.10799	0.32397
Transfer to Lesley MCDONALD	1	0.10799	0.10799
Transfer to George SUTHERLAND	11	0.10799	1.18789
No further preference	70	1.00000	70.00000
No further preference	25	0.21582	5.39550
No further preference	139	0.18379	25.54681
No further preference	12	0.10799	1.29588
Not transferred due to rounding			0.00000
	Total		223.37905

Transfers Report

This report contains the transfers results.

Stage 8 - Exclusion of George SUTHERLAND

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jackie BURNS	68	1.00000	68.00000
Transfer to Lesley MCDONALD	105	1.00000	105.00000
Transfer to Jackie BURNS	3	0.21582	0.64746
Transfer to Lesley MCDONALD	24	0.21582	5.17968
Transfer to Jackie BURNS	3	0.18379	0.55137
Transfer to Lesley MCDONALD	6	0.18379	1.10274
Transfer to Jackie BURNS	193	0.10799	20.84207
Transfer to Lesley MCDONALD	298	0.10799	32.18102
No further preference	240	1.00000	240.00000
No further preference	20	0.21582	4.31640
No further preference	11	0.18379	2.02169
No further preference	647	0.10799	69.86953
Not transferred due to rounding			0.00000
	Total		549.71196

Transfers Report

This report contains the transfers results.

Stage 9 - Exclusion of Jackie BURNS

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Lesley MCDONALD	348	1.00000	348.00000
Transfer to Lesley MCDONALD	115	0.21582	24.81930
Transfer to Lesley MCDONALD	107	0.18379	19.66553
Transfer to Lesley MCDONALD	107	0.10799	11.55493
No further preference	406	1.00000	406.00000
No further preference	90	0.21582	19.42380
No further preference	214	0.18379	39.33106
No further preference	161	0.10799	17.38639
Not transferred due to rounding			0.00000
	Total		886.18101